4 F g ¢ & Ab At & A X & A = 2 g Z M
Al A E] 2l ol El 2 ol
& Al M

ANEHEZ2H2H-TH0IZE (H1200xW3000, =Xl)

2021 2 o
B AR

1577-8549
(02)3436-6450




= 2 CH Jt e
TEAZ2H20-TH0IZE (H1200xW3000, £X)
M 2 dl L 24l a2 i g A
33 3 = e gl
=l =2 % = It = o = It = % =l = %
1. HEHES 2201 Z Y (H1200xW3000, 2XH)EXISAH'22H'Y (201L)
Xl = ®101.6X2tX1400 11 2 85,000 85,000 85,000 85,000 |E80d=2+2HCH
X = ®101.68 1 M 9,600 9,600 9,600 9,600 |280IATS+2MTE
ey ®76.3x3050x2t 11 2 67,000 67,000 67,000 67,000 |2S80HES+2HTE
RS ®50.8x3050x2t 2| O 38,800 77,600 38,800 77,600 |2S80HES+2HTE
SHEPLYHHEE M8x110(AEll) 11 M 1,500 1,500 1,500 1,500
EFAHAB/BUHE M8x110(AEl) 2| O 1,200 2,400 1,200 2,400
BEARKI 50X320 1 & 3,300 3,300 3,300 3,300
2H(RISHI) 246,400 - - 246,400
z = = 2021 AL T EEM (AL ATAN P.436
=Pl sgolg 0.09 | ¢ 181,293 16,316 181,293 16,316 |Siuim =g wam spo=o Ng. L0|S 8= 20%
o 20218 AL EEZH(ALHADAN P.436
BE08 0.18 | ¢ 144,481 26,006 144,481 26,008 |Yia =g wam spr=o Ng, L0|S 8= 20%
SEHS PEFN2E 7.22 | kg 600 4,332 600 4,332 2HAHEA, 2021.01 HeHoH2A P.227
2021 AL T EEH (AL ATAN P.436, I =0HIH
R0 == ®6 inch 0.16 | hr 409 65 409 65 |Syma mormo(y sBasS ma
20214 AL EEZM (AL AN P.436
3HIDUHIE ®5 inch 0.08 | M 148,000 11,840 148,000 11,840 |HLE sL=2l0) SB4SS He,
2021.09 Hef ot P.1322
20218 AL EEEH (AL ATAN P.436, I =0HII2
syl 25kw 0.24 | hr 8,360 2,006 28,571 6,857 3,045 730 39,976 9.593 |Syira mormo| 0y sBasS R, LU0|Z 8= 20%
o 2021 AL EEEH (AL ATAN P.436, I =0HII3
HEE™ 2.5ton 0.24 | hr 6,274 1,505 37,187 8,924 5,887 1,412 49,348 11,841 150ia =ormoih sas o g, U0|Z 8= 20%
=l oIAES 3% 1 4l 1,269 1,269 1,269 1,269 [20214 AL =ZH(ALATFAL P.436
2H(ZXIHI) 20,952 58,103 2,207 81,262
A 267,352 58,103 2,207 327,662
* 'm'e &It 327,662 |/ 3m = 109,221




o
40
o
N
kA

M =2 dl L 24l 2 dl g
S35 72 =g chel =] )
=l = o =l = o =l = o =) = o
2, FENEE2YZ-T0I T8 o2 (H12002ME)E XIS AH "HA"S (2OIE)
Xl ES ®101.6X2tX1400 0.5 2 85,000 42,500 85,000 42,500 |E80HCS+EHEE
X = ®101.6& 0.5 M 9,600 4,800 9,600 4,800 |[SSOAES+EMEE
ol & & ey g 1 18,000 18,000 18,000 18,000 |280IAEI+EHTE
HELABZE M8x110(AEll) 0.5 & 1,500 750 1,500 750
EFAHAB/BUHE M8x110(AEl) 11 M 1,200 1,200 1,200 1,200
SEALX 50X320 0.5 & 3,300 1,650 3,300 1,650
22 (HISHI) 68,900 - - 68,900
A Xl Sgos 0.05| ¢ 181,293 8,158 181,293 8,158 |EE722 50% XN &
2SR 0.09 | ¢ 144,481 13,003 144,481 13,003 |EET22 50% M
SEMS 02 3.61 kg 600 2,166 600 2,166 |EE722 50% X&
INEE ®6 inch 0.08 | hr 409 32 409 32 |EEF2AC 50% HME
3HIOUHIE ®5 inch 0.04 | M 148,000 5,920 148,000 5,920 |EE722 50% X&
Exspl| 25kw 0.12 | hr 8,360 1,003 28,571 3,428 3,045 365 39,976 4,796 |EET22 50% N8
EOEY 2.5ton 0.12 | hr 6,274 752 37,187 4,462 5,887 706 49,348 5,920 |EE722 50% X&
=4I I =2 3% 1 4 634 634 634 634 (2021 ALEEEH(ALHAPAN P.436
2H(ZXIHI) 10,475 29,051 1,103 40,629
Al 79,375 29,051 1,108 109,529




U=l L 24l 4 Hl g A
25 72 2 | @9 gl 22
(= = o = = A =) = A =) = %

*H1SH: I0C-'AlHE

A 409 409
* RI2SHE : 2@ I|(25kw)-"'AlI2H'E
2a)l 25kw 1) hr 8.045 8.045 8.045 8.045 g(\)ilwaiEfggﬁggfﬁiiﬁggéﬁ%.oooooo1
B 0.001W% S 43| | 1,568 6,742 1,568 6,742 |2021.09 H2HIk24 P.1435
PN FAZO| 24% 0.24| Al 6,742 1,618 6,742 1,618
LB A2 A AL 1] el 28,571 28,571 28,571 28,571 |HM4z®

Al 8,360 28,571 3,045 39,976
* RIBSH : @I E2(2.5ton)-'AlI2HE
B=EH 2.5ton 1 hr 5.688 5.887 5.888 5.887 g?iﬂaiE§§§§§=?9§3;38226278x%.0000001
B 0.001W% S 29| | 1,568 4,547 1,568 4,547 |2021.09 HeHoH P.1435
PN FAZO| 38% 0.38| &l 4,547 1,727 4,547 1,727
S X2 A 1] el 37,188 37,187 37,188 37,187 |HM53%

Al 6,274 37,187 5,887 49,348
* M4SH : U HSFA-'AIRNY
LB A2 H AL ‘ ‘ 0.208 ‘ ol ‘ ‘ ‘ 137,143 ‘ 28,571 ‘ ‘ ‘ 137,143 ‘ 28,571 |1LIIEA 201 x5 X1 H 2==(1/8)x(16/12)x(25/20)
* NSSH : SIS A-'AIRN'Y
SIS X2 A ‘ ‘ 0.208 ‘ el ‘ ‘ ‘ 178,501 ‘ 37,188 ‘ ‘ ‘ 178,501 ‘ 37,188 |12IIEAI2bx4 0 H 4=x 5 KI H %=(1/8)x(16/12)x(25/20)
* L IEHt
Sgog 2021.9.171& 1 < - 181,293 181,293 181,293 181,293
2308 2021.9.171& 1 - 144,481 144,481 144,481 144,481
2=3 2021.9.171& 1 < - 207,346 207,346 207,346 207,346
B A2 A AL 2021.9.171& 1 - 137,143 137,143 137,143 137,143
SIS X2 A 2021.9.121& 1 < - 178,501 178,501 178,501 178,501




A

X

el

E=] S
S
o
(@)
[e)
S
~H
£
S
N~
[aV]
o
e
i
W0 ﬂ.
<+ ~
(@]
X
[aV]
[aV]
:H ~
] I
o S
Ed 2
>
™
S
x
S
)
ZX
[Te]
[ep)
O
(@)
=)
2
=<
Ar ©
m | ™
&0
Mo
w
=)
=
H
A0
Kl !
A0 K
<




£ A X & = 2 g

B
%

ul
oQ
0z
=
baa

|
=

X

& Al M

ANEHEZ2H2H-TH0IZE (H1200xW3000, AEl)

2 A 2021 &
M 4R
TEL: 1577-8549
FAX: (02)3436-6450




2 9 W I H
NEHE2H2-TH0IZ S (H1200xW3000, A&l)
M= 4l L 24l a2 i g A
. 7 >g | ol Bl 2
=l = 9 =l = 9 =l =2 9 =l = o
1. AEHES22-TH0I 28 (H1200xW3000, ABE X SAL "B2"Y (Z0HE)
Xl = ®101.6X2tX1400 1] 2 154,000 154,000 154,000 154,000 |2dHIr22
A= ®101.68 1 9,600 9,600 9,600 9,600 |ES0IAES+EMZH
e ®76.3x3050x2t 1 2 186,000 186,000 186,000 186,000 |22
2= ®50.8x3050%2t 20 O 122,000 244,000 122,000 244,000 |2HEA
SHELAHABEE M8x110(AEl) 1 N 1,500 1,500 1,500 1,500
EFAHZEB/UUHE M8x110(AEl) 20 M 1,200 2,400 1,200 2,400
BEARX 50X320 1 & 3,300 3,300 3,300 3,300
2H(RISHI) 600,800 - - 600,800
SR Sgog 0.09| ¢ 181,293 16,316 181,293 16,316 ?5@35 Sﬁggég(&%ggg)gﬁgggg 20%
o 20218 AL BEEZ M (AL ATAL) P.436
LR 018 o 144,481 26,006 144,481 26,006 |5iie o=z oo m sposs XS LIS EE 20%
SEUS PEFN2E 7.22 | kg 600 4,332 600 4,332 |>ZAEAT, 2021.01 HHIHA P.227
) 20218 AL EEZH(ALCITAL) P.436, 120 IH
Iocd ®6 inch 0.16 | hr 409 65 409 65 |yara =orzoif SBa= S Me
20218 A2 2 =38 &(JE%U AN P.436
3HINHIE ®5 inch 0.08 | M 148,000 11,840 148,000 11,840 |HgE sL=2elll sB4SS Mg,
2021 NQ HAUILA P 12090
20218 AL EEZ M (ALTAL P.436, 2012
Ersp] 25kw 0.24 | hr 8,360 2,006 28,571 6,857 3,045 730 39,976 9,593 |Sycrar ot =0} SOASS ME. LIS 8= 20%
o 20218 AL EEZH(ALITAL) P.436, I 203
gz 2.5ton 0.24 | hr 6.274 1,505 37,187 8,924 5,887 1,412 49,348 11,841 |5 mormoif SBAS S B2 L0l aE 20%
=4I oIAES 3% 1 A 1,269 1,269 1,269 1,269 (20218 AL EFEZH(AL AL P.436
2H(ZXIHI) 20,952 58,103 2,207 81,262
A 621,752 58,103 2,207 682,062
* "'m"S B} 682,062 |/ 3m = 227,354




o
40
=
N
FH

0B

== 72 2z | o

o O 2 o & ot 2 o & ot

oy
12
0
=
oy
12

2. NS ZH2t-TH0| ZE S (H12002 )& XIS A "HA"S (R0+8)

Xl > ®101.6X2tX1400 0.5 2 154,000 77,000 154,000 77,000 |AEI2A
A=y ®101.6&8 0.5 M 9,600 4,800 9,600 4,800 [E80IHES+EMEY
ol 2 e g 11 M 18,000 18,000 18,000 18,000 |2HIA
HELAHAZBEE M8x110(AEl) 0.5 & 1,500 750 1,500 750
EFAZB/YUHE M8x110(AEl) 1 M 1,200 1,200 1,200 1,200
BEALXI 50X320 0.5 & 3,300 1,650 3,300 1,650
22 (RIZHI) 103,400 - - 103,400
A Xl sgos 0.05| o 181,293 8,158 181,293 8,158 |HEET22 50% HE
2ses 0.09 | o 144,481 13,003 144,481 13,003 |EE72Hel 50% H&
SENS f=025 3.61 | kg 600 2,166 600 2,166 |EET242 50% M
EAo == ®6 inch 0.08 | hr 409 32 409 32 |BEETA50% HE
3EtROHIE ®5 inch 0.04 | M 148,000 5,920 148,000 5,920 |EET2250% &
ERapll 25kw 0.12 | hr 8,360 1,003 28,571 3,428 3,045 365 39,976 4,796 |EEP22 50% HE
gZEY 2.5ton 0.12 | hr 6,274 752 37,187 4,462 5,887 706 49,348 5,920 |EET2250% &
M=l QI E 9| 3% 1] 4 634 634 634 634 (20218 HEHEEY
A (&ZXHI) 10,475 29,051 1,103 40,629

Al 113,875 29,051 1,103 144,029




JUR=:] C 24l 2 g A
=g = >3 | o9 HI 2
= Ot = A = Ot = A = Ot = A =l = A

* ANESE : Ao s2-'A'E

Al 409 409
* H2sH : 2WEII(25kw)-'AlH' S
23l 25kw o 3,045 3,045 3,045 3,045 %?ifxﬁigiiggeii;g}x)zz:;x%.oooooo1
3= 0.001W% S 4.3 | 1,568 6,742 1,568 6,742 [2021.09 HeHIt= P.1435
PN FAHZ Ol 24% 0.24] Al 6,742 1,618 6,742 1,618
LB H2H AL 1] @l 28,571 28,571 28,571 28,5671 |mM4z=E

Al 8,360 28,571 3,045 39,976
* HBSHE : G E2{(2.5ton)-'AI2H'E
BIEH 2.5ton o 5,888 5,887 5,888 5,887 |3 oxal 2 e B M400HZIBD.0000001
3= 0.001W% S 2.9 | 1,568 4,547 1,568 4,547 |2021.09 He§ItH P.1435
SNz FHZ Ol 38% 0.38] &l 4,547 1,727 4,547 1,727
StSX2H AL 11 @l 37,188 37,187 37,188 37,187 |mM58=

Al 6,274 37,187 5,887 49,348
* M4 H : dEIIHSFA-AIRNE
LI H2E AL 0.208 | ¢ 137,143 28,571 137,143 28,571 |12 12 AlZhxa 013 2x 3 XI 4 2==(1/8)x(16/12)x(25/20)
* M5SH : SIEXNSTA-'AlIVE
SIS X2 AL 0.208 | ¢l 178,501 37,188 178,501 37,188 |12I1F AlI2bxA 0 2l 4x & XI H 4=(1/8)x(16/12)x(25/20)
* L QUL
Sgolg 2021.9.121& 1 < - 181,293 181,293 181,293 181,293
2322 2021.9.121& 1 < - 144,481 144,481 144,481 144,481
223 2021.9.121& 1 < - 207,346 207,346 207,346 207,346
LB H 2N AL 2021.9.121& 1 - 137,143 137,143 137,143 137,143
SIEXSH A 2021.9.121& 1 & - 178,501 178,501 178,501 178,501




A

X

el

E=] S
S
o
(@)
[e)
S
~H
£
S
N~
[aV]
o
e
i
W0 ﬂ.
<+ ~
(@]
X
[aV]
[aV]
:H ~
] I
o S
Ed 2
>
™
S
x
S
)
ZX
[Te]
[ep)
O
(@)
=)
2
=<
Ar ©
m | ™
&0
Mo
w
=)
=
H
A0
Kl !
A0 K
<




	6...BI-PI-H1200xW3000,분체-2109
	6S...BI-PI-H1200xW3000,스텐-2109

